WFZEACHY . 600748 UFEETRIFR: Sk RS 2025-32

Eigstl & RN BIRAT
FAEREESE_+XESVURNAE

EATBEEFSREFERRIEFAENENFEEMBRIDE.
R RE BRI, ARSI Ha M SRk
HIERRE,

—. BHSSWAFBR

(—) higsol R ERmARAR (LURFER “AR7) FIum
AN Tk i) UG ENT 2025 459 1 H LA -7~
fiZRw R E DA o A 7B SNSRI 19 R L DS Ve e e
MEH, ST 202549 H5 H (BT BUERT AT, Sl
WEINEF-LL, EhrEsn#ER-LE, o aRERmEE A Ly
Sl WA FVER B (AFFERE) e,

. BHFSSWHER

I AR A KRBT < m TR LGH 2 (15D

AFEFRFEANE, KR (AnEZR) BTG, A
AHBERFS, WHESOPBERES IR Rl Rl
Mk FEEIBEAR AT BR 23w M 2o OGN ) 25 2 S AR DG T EE AR B R L
O3 ) [N 2 A RS 2 A 2wl A S HAE e N Dt b 38 =R
IPEE TR AR A SR T 4L




ESHE 2SI /NE) & A )

FLAR P BT LA BT [F) H B 1R o 7 DR THEAT < ml Fe > S B
MRS AE) (I 2025-33),

KRG FE TS, X0, FFA0 R,

NGNS AN /N A0 E )

Ak nsR A w NG ERALE], s AR, RS (A mlk)
(2023 SFETRO CEWAR TSRS (2025 FET O (LR
AT BT A BARAE TR SR 15— HVEIELE) (2025 4E 5 H &
RO CEHFUEZRAE S B S Err Ry (2025 45 4 HETO 5541
FFTEME AL e (R FEREY (2025 4E 9 ABITIED e, A
o [ A B TR N AU R BE BT MR ag -

2.1 KB BZRSUCHAD,

2.2 KTE GEFSUEFHND;

2.3 KT o vh2 Do St g ) )

2.4 KB CHOLER TAERIED;

2.5 KRBV (b Iiggs prik B )

2.6 KRBV (5 B 5T il B

2.7 KB (GREDGEHINE):

2.8 KTHH (GE R B R BRI ),

2.9 KT (EF. WBEBN LR AR S BRI ),

2.10 KT (FESE. U N DUHTIAE B R )

211 KT AT HE S L BT,

2.12 KPR (FBFH R R E BB,



P S T2 RSB AR AR DGR S (S m B ) (R4
AR AR OCHRRL, RIBIT G (R i SERtan ) 5 (A
F] R THAET <o w] B> SO IR ZE s I 5 & 0wl SR 2R 2 v DU
Z HIE AR

AN F) CBRZRSUCRRIIY (FESE 2B M7 E $ TR
BIREY (o TPIM4G FriE e ) (HEERSFHMIME) (EH, SH
BRI DUHTIAS B R ) A A Rl AR S5 L

RIRGER: FWE T, RO 05E, FFAL0 .

3. (AFEKRFHIEATF 2025 F5 RIS AR 2 HLED

RIRGER: FWE T, RO 05E, FFAL0 .

] 2025 AFEE I R AR S I LR TR 250 R, 508
WIMESE AR R A FE R A= I

WS T LS 2 i o0 1 B i f 3 A8 A W) 2025 458 K I
I I 2R 2 e 1AL

Frtb A .
SN R R AR AR E RS
“ O hiEJLHAINH

® | [ [ {4

1. {AFERE) 430 (2025 4F 9 ARO;
2 WUE 2 il RAH G 4230 (2025 429 H IO -



O R&
1. AFEIUREEFSHE b IRkl
2. AFBIUREFSH IR RSE T TR
3. AFEISEIURESRESMIE R LTSV Lk BRI
NF LB EFSHIN G F 2R s =k R

hui

hui
3

hui
3

AN
J
B



